EAKRE LSRG (BFE5EMKETRMEME) O—BERETI5RHA FIEXNEE
POEH HIERT
BF1 (7 REER BlF1 (87 REHR

2 [PRHmBRGEEEFRS 2 [HmERdEEE Ak

sl L2 Bifyr et G vl i Bifiy R
FEE =¥ 2, 1008 BriEs =) 2, 100M
TEEFER X 5209 TEERTES =X 520
¥& (2R) B 100H ¥& (3R) =) 100
¥E (3R A 1009 e (4R) = 100
¥E (4R =l 1009 ¥5 (6R) A 1004
¥E (6R) =) 100/ /R )= = 730/
EHEE =l 100/ e E-¥ 730
W E = 730 &K X 3, 150M
e = 7309 SRR p¢ 1, 0509

#/E | RER E=V 3, 1509 B | bIEA # 100/

RE | SFR o 1,050 Bl | #As3Y »’ 3104
SRR »® 1, 050/ 42 B 5209
HIRA 4 100/ k8 (12R) A 100M
HA3$ D w 310 % (18R) S 100/
R # 520/ % (30R) ¥ 100/
% ¥~ 1004 R =l 50M
% (12R) A& 100M T P R AT R 58 50
¥ (18R) A 100/ BRE R =i 50/
% (30R) A 100/ KA, = 7309
) =) 509 AL A 504




HIE% BCIER(
&R =) 50 RiRER =) 210
KK# =) 7309 BiRERRE S = 1004
PN ATA ¥~ 50/ HEEE ANES = 50
fBE R B 210/ UVRE -y 310M
fefE FmE & =) 100M REEAH 8 509
HEEHRE S =) 50 it =X 6309
OB = 310/ HvE = 1004
REEATE B 50M FUEAT =) 50/
TR 4 PR AR 8 50/ v7/ X 5, 2509
et N = 630/ e (2R) =) 100
YA B 100 ERFE =) 100/
RTETAT B 50/ SRR p 1, 050M
7/ = 5, 250 % ¥ 100/
HEBR R E =V 3, 150/ FERA = 3, 150/
7y k74 b = 730M 79 +74 b = 730
&7y F54 b =Y 310/ ftEZ7y b4 b = 3104
T o=k S 74 b = 1,050/ V2w WS 0 = 1, 050
n7—kYr74 k = 840/ n7—HRYJS 54k = 840/

FREA - fam -

- R—F—F4 b 4| 730 - R—F—F5A b 4| 7301
=Y ARy 54 B =l 210 =Y RARY FFA b = 210/
ARy FFA b =) 1, 050/ YRRy FSA b =) 1,050/
YRR a ARy hFA b =) 210 PARy Y av ARy T4 b =) 210H
7ay A ARy hF4 b =) 210H 7ay A FARy bFA b =) 2101
FT—ZARy hF4 F =] 210/ FT—ARy bTFA b =) 210/




-OL_

HiEH BIERAT
FMARy bFA b =) 210 7y hREy b =) 100/
TVRNARY b4 b B 210 =Ky b =l 10019
=4 b A 150H ARy bF4 b (1 KW) & 2108
V=R T g & 150/ ARy T4 b (500W) & 100
7y FARy b = 100/ BEsU— xt 520
~NpE—2Ry b = 100/ =R ENET— >t 520/
BEZU— Xt 520M T—hAZ R =l 210M
N—=RAENFT— sl 520/ AEK =) 100
T—AhAZVK = 210M 7=z v = 7300
ARFUR =) 1004 HIN<w =) 520M
T7xy ke B 7304 Yy InN=yv o) 210
TNy & 5209 KE = 210M
Vo TIhevy =) 210 ZFr—r—=~y F=v =) 840/
r—uswiv B 730 ARy I A = 100
774¥Y—F7 A =) 730M RF—AR— o) 730M
s~y Ry B 840M F—ugwv =) 730/
I F—R— =) 730/ 774 — K7 A =) 730M
%E = 2104 ARy bZ4 b (2KW) =) 420
iy H— =l 520/ AMVyFF4 b (BR) =) 100M3
BER = 520/ AV FFA4E (6R) k=) 2100
B (WEREESTe) = 3, 150 YAy H— ‘B 520/
BoE | ZL—%— B 1,050 ER - 520/
i | La—F— B 730/ BoE | BALEIEE F-v 3, 1504
<A 7 3 520 ’iE | La—FlL—%— = 1, 050




_LL-

BIERT

KEH
TAY VA=A Y ¥ 1, 050
b 1= e & (4 7 520
<A AZVE b= 10088
FoF—RAE—H— =) 5200
RAF— DA =T — B 1, 050/
R—F TN FHP— G 1, 050/
A7 Y= = 520
3 RmEEE = 1,570
FoABRBRGERS KW 100M

F—FLa—F— B 1,050

Iy b F—FLa—F— =) 7301
R=FTINT—FT La—F— B 730

=47 _(A) & 520F
<42 (B) Z 52009
e e = P = 520M
T _R—F—= A7 % 1,570
AV LVRA Y A 1, 050
Ta—ely = 520H
EoF—AE—H— =) 520
R—F TN I FHP— =) 1,050/
16mmBk = 2, 100H
Ay Y= E=V 520/
3 MR X 1,570M
RAF—D A —H— =) 1,050/
FeAsEmaEmE 1 KW 100/




-ZL_

HIEH BIERT
3 MREEAR 3 BEEERAN
X453y T 1 BRI 7= v Rt X5 g5 1 BRI 7= v AR
Kis—/v 606. 60nt 1,570 Kibs—v 606. 601f 1,570
RUA T 417. 26nf 1, 0509 RTA = 417, 260 1,050
HKE1 66. 85nd 210 HE1 66. 85nf 2104
3= 37. 55nf 210/ BB 2 37. 55nf 210/
— | BR=E 59, 07nf 210/ —fp |BTE 59. 07nd 210/
Ty U—E1 5. 30nf 509 ¥ U—E1 5. 30nt 504
VY U—E2 5. 30nt 50 V¥ U—E2 5. 30nf 50M
HEEWH=E 9,17nf 50/ EeEEE= 9.17nf 50/
HEEHE 4.19nf 50/ KEEHE 4.19nf 50/
RUA T 74. 05mf 210/ AL 74, 05nd 210
_, | HREE1 94. 98nf 210 | EEEEL 94. 98nf 210/
— ) 57.97rd 210F — ) 57. 97t 2109
WE=E3 100. 12nf 2109 wE=3 100. 12nd 210M
&% e
1 AE#EE. 5 155108158 TOM LT3,
2 BEMRIZ. 1181 B»bZED4A0AETOMET S, 1 EEERMEE. 118 1 Ah6B4ED 4 A0H X TOM LT3,
3 [EAREICEEAAE U AL, 1R LTS, 2 (AR E U R A, 1R & T2,




-SL-

1 AESMIZ. 5A1BMHL10H158E T LT3,

2
3

BEHEIZ. 1181 B20BE04 A30AETOMET S,
(ERRRIC IS E U T-RAIT. 1E#IE 5,

BEERMEI. 118 1 B»o34ED4 A0 ETOME TS,

1
2 (EFARERIC RS E U AR, 1R & YD,

SIEH BAER(
BiF2 (57 REHR BF2 (87 REEHR
2 IniREERE 2 [BEGEAE
X5 s 1 R4 72 0 (Rt X5 it 1 RFRIY 7= Y R
Kis—n 606. 60nd 230/ Rb— 606. 60rf 230
rUA T 417. 26nd 150 RrUA 417. 26nf 1504
EE1 66. 85nf 50 HE1 66. 85nf 509
RE2 37.55m 50 BE2 37.55nf 504
—p | B’r=E 59. 07nf 50/ —R | BR=E 59. 07nd 50
¥ U—E1 5. 30nf 50 V¥ U—E1 5. 30nd 50
VY U—E2 5. 30nd 50/ V¥ U—E2 5. 30nf 504
ERETHE 9.17nf 50/ FREELE 9. 17nf 509
RKEEHE 4, 19nf 50/ PRI 4.19nf 50
AUAL = 74. 05nd 509 RUA T 74. 05nd 50
_ HREE 1 94. 98nf 50/ _ =1 94. 98t 50
— ) 57. 97md 50/ — ) 57.97nd 50/
PEE 3 100. 12nd 50M fE=3 100. 12nf 509
&% wE

Mt R

To&MIE, FM2E1A1BLLEITTS




